Hi,

Here are a couple of tips for Chapter 9.

A.  For the Confidence Interval (CI), the formula can be replaced with the following words:

Point Estimate +/- Critical Value X Standard Error

1.  For large sample sizes (see page 413) the Standard Error is given by the square root function in the upper tan box.

2.  For small sample sizes (see page 416) with equal variances the Standard Error is given by the square root function in the tan box.

3.  For small sample sizes (see page 422) with unequal variances and n1 = n2 = n, the Standard Error is given by the square root function in the tan box.

For example:  If Sample 1 variance = 2.5 and n1 =7, and Sample 2 variance = 4.5 and n2 = 7.  Then we would calculate the Standard Error from page 422 since 2.5 is not close to 4.5, and n1 = n2 = 7.  

Standard Error = sqrt[(2.5 + 4.5)/7] = 1.0

B.  If the Confidence Interval (u1 - u2) is (-2, 7), the correct inference is:  No significant difference between them means.  DO NOT say u1 = u2.  

C.  The Sampling Error (SE) = (Confidence Interval Width)/2.  See page 453.  For example, if the CI width = .1, the SE = .1/2 = 0.05.

The SE is the number that follows the +/- in the CI equation.

Make sure you do not confuse Standard Error with Sampling Error (SE).  They are two different numbers.

I hope this helps out.

Mark  

